Math 1A
Midterm 2 Review Answers
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[5] The given line has slope — o o the tangent lines must have slope 12

Y -1 = x=12
dx

Thetangent linesare Y—9=12(Xx—2) and Y+ 7 =12(X+ 2)

(6] Since the function is quadratic, f (X) = ax® +bx+c where f(1)=-1, f'() =3 and f(2) = 4
So, a+b+c=-1,2a+b=3 and 4a+2b+c=4
Solving for the coefficients, (X) = 2x* —X—2
Thetangent lineis Y — 4 =7(X - 2)

3L+ x*) - x*(2x) X +x*

[7] f'(X) = 212 - 232
(1+x%) (1+x%)
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(x) = 24
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(1+1) 16 2



[8] [al k(2 =8f(2) and K'(X) =3x*f(X)+ X*f'(X) = K'(2)=12f(2)+8f'(2)
Thetangentlineis y+8=12(x-2)
B and i :2Xf(x)—X2f'(X) .,_1:—21‘(—1)—1”(—1)
B D= W =T = =

The tangent lineis y—% = —%(X+1)

[ m(=3)=tan"(g(-3)) and M) = o o ( e g(x = m’(—3)=mg’(—3)

o T
The tangent lineis y+z =X+3

[d  n@4)=9(f(4) and N'(X) = g' (X)) f'(x) = n'(H=g'(F(AF'(4=9@)f'(4
Thetangent lineis Y = —3(X—4)

[9] ANSWER WITHHELD (SHOW ME YOUR SOLUTION FOR VERIFICATION)

NE

[10] f'(X)=4-3sec’x=0 = secx:ii3 = cosx:i7 = X=

1 () = g(x*)+xg'(x*)(2x) = g(x*)+2x*g'(X’)
f(x?) = g'(x*)(2x) +4xg'(x*) +2x*g"(x*)(2x) = 6xg'(x*)+4x°g"(x*)

[12] 51+ x*y?)*(2xy® + 3x°y? %) =4x%e” + x*e’ %
X X

51+ 0)4(O+ 0)=4(-)(Q) + (1)(1)ﬂ ﬂ =4 NONEED TO SIMPLIFY dy/d)( to find d%xhi_o)
X (-L0) dx (-1,0)
y=4(x+1)
[13] y=ax! = ﬂ:4ax3
dx
X2 +4y?=b? = 2x+8yﬂ:0 W x
dx dx 4y
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1ldy _gin (cosx)x—lnsmx _ Xcotx—Insinx

ydx x? x?
dy xcotx—Insinx,. .}
poin v (sinx)*
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[15] f(X)=xe™, a=-1and Ihmg =f'(-)=(e"-xe) L= 2e




